Name:

Keg
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Geometry — Semester Test

1) Use the polnt (1,1) as the starting point and perform the following transformations on it.

o (x,¥) - {(x-5y+2) - (Gx4y} - (—x,—y) - (=¥, x)
& V-4, 3) Dia) O ) Y (10,02)
—~ 2} Find the missing values of the triangle for each situation.
G Given: a B Y a 3.6 b ¢
Sl s | wsfeg v 135° 2T 8.5 20.50
(Crpt b) 67° 262 5 2¢ ii.74 5.8 13
{aras '
3) You have £ABC with T on the interior.  2x+ S’X-FS;‘ ¥s" 4
X = T

a) Draw a picture for this scenario

g
[ b} IEmLABC = 45°, mzABT = (2x)°, and m£CBT = (3 + 5)°, what is m.ﬁ(.‘BT‘@
o) If BT is the angle bisector of ZABC, £ABT = (3x)°, and m£ABC = = 60°, what is m£CBT?

Cuf

bt

(y 4) Bisector means to

@} 5) Define an angle and state its units. % s

e

G

6) Find the supplemental angle for each of the following:

a) 67° (K67 = “3 &
7y MATCHING!!
£ Point
= __ & Opposite Rays
£ Plane
A Segment
P Endpoint

ib)x”

2

(igox)"

8) From the picture on the right,

fill in the following chart. Name | Notation
Ray 2%
Foint Y
Segment | 2
l i\nc‘i W
9) Find the missing side.
a) v b}

RN
2 2%

28x~pe = 2O
X={g

21

L= CC'/;’nm-'Jr?

10) Give the definitions of the following trigenometric functions,

a) sin(8) —:ﬁ”_
iq/('

\ b) cos(8) = & edj
!:;//

&

c?.—u.‘/-/z:-i-%
ey

A A part of a line that consists of 2 points and all points between them.
B A flat surface that has no thickness and extends forever.

C Names a location, has no size, represented by a dot.

D A point at one end of a segment or ray.
E 2 Rays that have a common endpoint and form a line.

728
e X

| ytan(g) = Z2
el



11) Using the triangle on the right and the values given, find all the missing sides and angles in
the following chart.

Given: a B a h c
a) 30° Lo’ 10 17.5 20
by ¢3¢ 37¢ 4 3 <~

12} Chris pulls his 50kg little brother in a sled. The rope makes a 60° with the horizontal. How

much force does Chris need pull on the rope with to accelerate his-brether at 4m/fs?? Df@
t[tft”'/\/ -2 =l 3

13) Find the distance between the following points AND the midpoints. Write your answers in
the simplest form, —f) H

a) (1,-2) & (2,0) 0{ mé’ 2)z‘_lb)( 47 & (=4 -2) q’ »/(e{ 94 (2~
2 ”j

14) Find a vector in component form for the ollowmg Magnitude 20 and directton 60 b
Ces fo = £ Séreo= %; ;mﬁ_j I' LG 173>
15) Solve for the variable in the given problems:

Vo Y +3246 =70 |
” Bz + 6 7z = %"{ WAL ~g X
C Te—ir =¥y
x>0

16) You have line segment AB with C between A and B.

a) AB is 6 ft long and C is the midpoint of AB. What is the length of AC”L/ b ¢ B y l

by AB is 2x + 10, AC is x + 2 and BC is 5x. What is the length of ABP! 2 x4 =82 #5¢

c) AB is 14 — x long, C is the midpoint of AB, and AC is 3x. What is the length ofBC" ~
I{-X = 3x+3x (X==7 ? @

|’_z

17) Find the gcometric mean of each pair of numbers. Give your answer in simplest fadical form.

2) 66 and 36 m = ¢Jiz”  Iw3sand20 (T3en, < w/S

Use the following picture to answer the questions 18 and 19 .

_ 18) Find the missing angles given the following information.
ayms2 = 155°, me3 =? b)ymzs1 = 6U° mesg =? ' '
. 25€ (ot ) A A ’
19) Match the following angles with their proper description using y /”‘

the picture from above.

sland 23 = A. Alternate Interior Angles
t2and £3 2 B. Alternate Exlerior Angles
25and 24 B C. Same-side Interior angles
zland 24 ) D. Same-side Exterior angles
/8and £3 F E. Corresponding Angles
zland 28 B F. Vertical Angles

£2and £7 4 G. None of these




Name:  Fg 2/2/2018 Geometry — Test 5
4

1) Solve the following equation and justify each step.

2(x—-8y=10
Statements ' Reasons
2 (x~%) =0 (o i
DY \-{_/? )
l/l I'- 2x-lL =G VST /”"’//"
2X =24 Adol ik preeyr o R
X =i3 /‘f/ YT

2) Fill in the blanks for this two-column proof.

Given: £1 andZ2 are supplementary, and - 143/2 »
£3 and Z4 are supplementary.
L2203 \\
Prove: Z1 = /4 - 3 4 >
Proof:
Statements Reasons

1. £1 and £2 are supplementary. 1. Given
£3 and Z4 are supplementary.

@

2. a. ? 2. Def. of supp. &
3. mLl + mL2 = mL3 + mL4 3. b ?
4, L2 =/3 4. Given
: 5. m/2 = m/3 5. Def. of = 4
6. ¢. ? 6. Subtr, Prop. of = Steps 3, 5
7. Z1 = L4 7. d. ?

a) méii tme2 DUGHT | medimed 2gn°
b) Swifr st

c) @ i f—mz_g Y +;’Vf¢.’:‘('
) Sub. ey 2

Pefo _f 2



3) Solve for the variable in the given problems: . '
Cfﬂ +S EEn-Sig "

) Y2 +32 6= 0|
o) az° iz«:”’ ) (4n + 5)°\ {8 — 5Y @
4-_‘- Z ik .
O (3z 4 6 _% / N v

[

4) Write a proof given the following information,
Given: £1 & £2 are complimentary and 21 & £3 are complimentary
Prove: £2 = £3

é)> Statements Reasons

4{ "‘Gdf_,Z- e Ct._—.:frs‘ﬁ, 6{}/(/?
> L] LB T ey —

. e Fme2 =10 ¢ Ped-. ot Cyiny”.
2) el Fmae3 =90
3y med Fme2= md tmg 3 Subst  prop =
‘i) mé- 22 e 3 Seab. ool =
5) Given the rule: “If you touch someone, then you will wash the dishes.”
. a) State the converse | b) State the inverse | ¢} State the contrapositive
3 TF Ashe s fheq € re -few;ﬁ i, this TIE e df-?/;z;} 1"/%5,7
. fough, e d Ghes N o,
6) Build a truth tabie [or ~q o p ’ Z
. 7 | ~ap | ~g |ngap
; I / | F T
I 2 2 T T
1S T I F T
£ oLy T F

)
@ 7 Given: 8,11,10,9,12,7, ...
What is the HW the sequence? iy s
.

2 T Fg
f 8) Given: A, L, J, C, E, }-],ﬁfff L, 22

What are the next 2 terms in the sequence?

@ 9) Determine if the following is a true biconditional. If not, provide a counterexample.
Iifa+b=2thena®?+b*=4

[ 2§ T2 ‘fq'{sc:

C

ABLOEFPGHT TE L
A 6 3 2



Name: hﬂ/ 3/2/2018 Geometry — Test 6

1) Given the following equations, identify the slope and y-intercept.

= m=-2 oy m*~='
& beg = § ¥
b=75 b= -7

2) Using the information from above, fill the following chart.
Slope | Slope of a parallel line | Slope of a perpendicular line

..... A)| -2 -2 '/Z
@ B)| & $” —ly g
9| g 43 -8

3) Find the equation of a line in slope-intercept form that{s éarallei 1\1) the given line and passes the given point.
a)y=4x—58&(2,—-7) M=y \b)3x—y_—6&(10) s 3

. }, =5 ('X-___ 2_) -2 X2z o ) 4o

Iv= ‘(x 1S )
4) Find the equation of a line in slope-intercept form that G p rpendlcu!a)to the given line and passes the given

point. 4 N
a)y=-3x+5&{(9,—-2) s 2 ‘b)5x+y—2&(10 -3) W= 5
: i —5x —C

@/‘ V7z(x ) =2 yoTiaes y=5(x~0) -3

=5x-3 2 =y -3

5) Fill in the b]an! for the formula used to calculate slope if you arc given the points: , : X5, Vo)
. m— Y2 T

@ b

6) Given the following points calculate the slopes of the lines and fill in the chart.
A{~6,-2),B(~4,8),C(-14,10),and D{-7,3)

i\_l ‘ Slope: 3o =7
g2 ,ff,fji’:: = AYAB| 7= T
N T D — Y T O T
@) e T 2 ! B)BC | -/ 32
C)CD | —f ey =
D)AD | -

7) Using the information from question 6, fill in the blanks for the following. Use the perpendicular symbol (1)
and the parallel symbol (]]) to state whether the lines are either parallel or perpendicular. If they are neither,
write that off to the side,

a) AB CD nethe~

@ b) AB.L. BC
¢) CD  BC e the -

d) AD BC
e) AD €D

f AD AB



8) Find the missing angles glven the foliowing information.

@a)nms =121°,mz3=? |21°
b) ms5 = 37°, m«8 =7 14 3¢ / /
1/ i/ 4

__ 9) Solve for x using o the angles of the above picture: i Vﬁs /i‘:‘i s
@a)m41~2x+9 ms4 = 9x — 28 2x49 + Gy —22 = 18D
. X= (¢.09
10) Circle all the answers below that could be used to say p |l g
Ay /B=/3 X +3 +{xHeo= 180
41 = /_3 —_ _
= r4 -2
/37)45 = 4 K= 23
21 = /8
22 =27

26 and £3 are supplemental
27 and £3 are supplemental
') 26 and £7 are supplemental
27 and £2 are supplemental

11) Match the following angles with their proper description using the picturc from above.
a) <land 23 & Alternate Interior Angles
b) «1and £4 D Alternate Exterior Angles
¢) £2and £3 &~ Same-side Interior angles
Z d) £8and 23 F Same-side Exterior angles
¢} zland £8 f Corresponding Angles
f) 22and 27 A

Vertical Angles
g) ¢5and 24 B None of these
h)y z6and 27

oammo oW

12) Write and solve an inequality using the triangle on the right. X y z
. e
& oy N
x <l : w

13) Find x (and y) so that / and m are parallel.

a) b)
= )(2{ ,J Ox+

é A N\ ) {10x — 4y
O /{x +§)¥ N l

X Fy X = 156 2 2%ty =10)
(_7_(2)(#}/:{3’{)) —Yx -2y ==3 B # 3y 160
(x+z>, =150 ) X P E O e
—3X =~ 147 g = U5
Xz oo X=25

y=to yeo



Name: K 25/ 412312018 Geometry - Test 7

1) Find the sum of the interior angles of the following shapes:

A D 2} g b} An hexag 6~2)15¢ oy
.‘ a) no%agon (@-2}i9¢ 200* } An )gégon \ ( 7 50
@/ ¢ 1 >2 S50 |9 > T (62
¢ % 5
Y s V(/EJ / 2o

2) The following shapes are regular. Find an exterior angle.

e * A —— e ;'?éa - &
&. a) quadrilaterai ?_@g - 0" b) D = =72

¢) heptagon 60 . . d) decagon 26 .
K T

3) The measure of an interior angle of a reguiar polvgon is given. Find the number of sides.

~ a) 140 3‘(;0 74@ b) 168 2¢c _
@/ et~ @?_/ (ot © PO sides,

4) Classify the following as convex or concave.

b)

‘{'\

@*’?&fxﬁ

c) » d) Conpre -y

Coriavy

5) Use the figure on the right to determine whether each conclusion is valid. If not, tell what additional
informatton is needed to make it valid.

a) Given: AB||DC,AD||BC. LABC = £DAB Conclusion: ABCD is a square. 8
L‘ . I ?/;{M . O /z_'eea( c
@ A‘E-—"‘: KC A

b) Given: AB = DC and AD=BC AC 1 BD Conclusion: ABCD is a square.
r#ombias, Needf

Hiprm
7 A8 L Ap



6) Make a diagram that shows the relationship between all the quadrilateral that we have been studying. Give on
unique characteristic for each shape. @
Srcsz}'

é,,/‘ d{uzé’(

¥opy Sides | 4—/&,4-& Py w0 (o se catdee Siole =
C?" gt ) ¥} pai— e f

/ \/ 74 sreles N
) T recth,
@ fa ryat £ r-hombas

¥ Consecahive Shele =

Sf way,

7} Use slopes and distances to determine whether the following quadrilateral is a parallelogram, rectangle,

rhombus, square, kite, or trapezoid. Give ALL names that apply.
E(_4f _1), F(_B,Z), G(B,O),H(Z, _3)

Ep: m;'}f—o ) ; Slopes: 7
©

GH:-,;‘S‘}{ :ﬁ; 'FG:‘ = 3
HE:‘)GLJ-L?.;-'— 2\}—-!:}

8) Find the missing angles 2a+bn Fra bsatkeo TG B ;3;64,0
2) ! v o |$a=360 b) -l
e i o - 72

% °

¢) Parallelogram d)
53’
o, NS
£ Y/ =/

53° z/°




Name: K{‘% 1/12/2018 Geometry — Quiz 13
1) Match the following forms with their definitions
A. form used by employees to inform employers of exemptions

< W2
A W-4 B. form used to report income to the state
1040 C. form used by employers to report income paid to an employee

0

g ND-1

2) Given the rule: “If you don’t do your homework, then you will fail geometry.”

D. form used to report income to the TRS

a) State the converse | b) State the inverse - | ¢) State the contrapositive
Té€ yeu ;f'a; T A (7 : € e ole ] ¥ "":‘/ e ;"‘ frae press gt
Z%’w :;i;fﬁ 4 l‘.'&l }"-:fk_/' H“»‘ -r’lzf,? }/‘:"" {""“Jﬁ'b ?‘gw "_"}/1 -'!'J"ir‘«; f""'b‘f fg";‘.__g oo H""
3y Giventherule: “If x > 11, thenx > 3.7
a) What is the hypothesis? | b) What is the conclusion?
2 s
A X7

. s
4y Given: 2,3,6,18, ...
What is the next term in the sequence? (2%

5 Given: A,Z, B, Y,C, X... ]9/ “w, E
What is the next 3 terms in the pattern?

6) Build a truth table for ~p — ¢

S el
T

T
?
i

T~
T |

b |2
‘"‘?‘"‘1'1'""7‘1.5




1/19/2018 Geometry — Quiz 14

Name:

1) Given the rule: “If vou touch someone, then you will wash the dishes.”
a) State the converse | b) State the inverse | ¢) State the contrapositive

T ishes, dhea feucs, THF ne bemch, theq n T4 0@”’5%6-5 Fhca e
2) Decide which arguments are valid. hes, teiedy |
All politicians make promises. All students take math classes.
Hobie is a politician. i Joey is not a student. A
= i 7T

Joey does not take math classes.

Vi ligf

Hobie makes promiscs.

3) Given the rule: “If x < 11, then x > 3.”
a)} What is the hypothesis? I b) What is the conclusion?
¥ e X223 e
L X= g2
4} Given: 1,1,2,3,5,8, ...
What arc the next 2 terms in the sequence? I3 2/
/

| ¢} Is it true? Explain.

5) Build a truth table for

~p =4
S Z
@ ()
2 7 AP g A7 gl P b oy
T T £ = T T F
T F R 7 T T T
SN T F T ~ T
F e | r [ 7T [ F [ F [T




Name: }ge}, 1/26/2018 Geometry — Quiz 15

1) Given the rule: “If you louch someone, then you will wash the dishes.”

a) State the converse | b) State the inverse | ¢) State the contrapositive
TE  wesh o{.{s&f:} then T  d wot foiscty ‘ If e 0[,3.“’/ Fhen
Youch  Sewmone, Someone, Her e A3be. no  teuch Semeone,

2) The definition of an angle is: An angle is two rays that share a common endpoint.
a) Write this as a condition statement. .
angle, then 2 rays shore a (omme emdljaint,
b) Write the converse of your condition statement.
If 1 rays shawre a (ometen 3"0//""'4‘,; et Q-y/e.
¢} Write the definition as a biconditional.
) An angle M and only N 2 RS share  a commm eclpulsh

3) Given the rule: "If x < 11, then x > 3.7

a) What is the hypothesis? | b} What is the conclusion? ‘ ¢) Is it true? Explain.
c i >3 se

4) Determine if the following is a true biconditional. If not, provide a counterexample.
If|a] = |b|,thena=b

e,
= -l b=}

5) Solve the following equation and justify cach step.

20x—6)=14 G:Ez
(350 -
Statements Reasons
2x—12 =14 Distrbutive  peop.
2 H2 Add.  yroy =
ax= 26 SIAVIM%
Z E- per’S'e"l /"r’ =
X=13 Stwpltse,




Name: F;e}/ 2/16/2018 Geometry — Quiz 18

Use the following picture to answer the questions on the quiz.
1) Find the missing angles given the following information.

ayme2= 155°, ms3 =2 2 2 y
bymsl = 60°, me8 =7 [ / /
2) Solve for x using the angles of the above picture: ) / / "
ayms5=x+ 4, me7 = 2x- 29 a) Xt =2x-29 .
byms6 = x,me7 = 2x + 30 LI “) kL F
; 'ZX +Ee = ’5%
3) Circle all the answers below that could be used to say p 1l g . ek
a) 321 = £3 3K.a 5w
22 = £3 T
(S £5=24 P
o 21 = 24 (X0
£8 =23
21 = £8
gy, 22 =27

22 and £3 are supplemental
AV 26 and £3 are supplemental
A’f}//_7"and £3 are supplemental
"y 27 and £2 are supplemental
@1 26 and 27 are supplemental
4) Match the following angles with their proper description using the picture from above.

a) 4land £3 & A. Alternate Interior Angles
b) £2and 23 £ B. Alternate Exterior Angles
c) £5and 24 8B C. Same-side Interior angles
d) 2zland 24 () D. Same-side Exterior angles
e) £8and £3 £ E. Corresponding Angles
f) zland £8 & F. Vertical Angles
g) 22and £7 A4 G. None of these
h) z6and 27 -
5) Write and solve an inequality using the triangle on the right. 6x + 5
9x =3
Cxts L Tx =3 & Ix
ks hers o
6) Find x (and y) so that / and m are parallel. g
a) A e b)
(5 ~ 10}’ w
B {8x — 5Y° . iy = 22 |,
\ 1t
SX—10+8x~5 28 2x = 7YX
Fise Ux=3y
E_).(— =1 E}: DX HGeE (G
' 2 .
13 ! K - I{S,_, 'Dp i'/f; 11’) = i),-

X = 14 }/féc,



Name:

Key

372372018

Geometry — Quiz 22

1) Find the sum of the interior angles of the following shapes:

a) A pentagon CS-:z) ige

b) An octagon (_‘;?-.;)( cr

S‘V&;ﬁ o /&f’(’:?
[ R 2
(4-2) 5@ (e-2) s,
. ) ) o)
:?-’L- el 2 z )
:72(/"
2) Find the missing angles of the following shapes.
2 ¢t N b p
TR T 1\ f 43_/’
2/ ! \ S s s
% 7 X+ 557= 7o RUTR V4 X#231= 3€e
ek 130° - Y Y ‘ o
, \R_A_ __E .__._{j = /‘&? -

3) The measure of an interior angle of a reguiar polygon is given. Find the number of sides.

a) 120 3ée 3o

4) Find the missing cxterior angle,

\"\\

\\-\ g /
f;;}‘-\\\gzz X+282= 3¢
A —

5) Classify the following as convex or concave.

a)

Coniex

| b) 160
%o 20 S e T éﬁq@

3¢ ¢
iGer-jlg =

(8 54y

Cﬂ? Cotprp



Name: '{\"&/

3/26/2018 Geometry — Quiz 23
1) Find the s¥m of the interior angles of the following shapes:
a) A quadrilateral b) A triangle
(L{' 2 ) ge 5o
3to”
2) Find the missing angles.
a) D p b)
o a
-70 / .
N {_ {O hal :::._-
C F AN

—

3) The measure of an interior angle of a regular polygon is given. Find the number of sides.
D
a);pﬁ" 2o = I'b) 160 sco —
%4 oy S A @ W "
S Sices, 190 -ige 0
4) Find the missing exterior angle. T

W +65F7) +iy + k= R0

= 757

5) The following shapes are parallelograms. Use the information given to find x.
a)UH =19, FH =5x -7

b) 7, y
H E ! _ -
= FOX+ 15 b+ 157
j \“'\-.4_ /__.»""' \ _.'I v
' Ihl_‘""n_ L"’ J’/I'I :.. ,‘I’ ;
i e ', !
/‘/ HIH""-»_ i .
! ,f'/\ \\H"\_h_ ! I ¥
!L./’ e R __I ’I “:.
G F : ;
X i
[ g fed o T . )
{13257 Gyt HFEX A= (50
Sx ¢ Sy = (S
——
X= C? /

( i



Name:

4/6/2018

Geometry — Quiz 24

1)} Show that the following points form a parallelogram. Use any method you want.

0{ ;.34“

PG = Jsur = Joe

2) The following shapes are regular. Find an exterior angle,

a)triangle
- B

GO\

oLt

P(2,2),Q(1,-3),R(—4,2),5(—3,7)

Slepe s

€-J30,~ P Tee K e s
S S uf = _.S_T - . =
o= SR
- - .-5
by (57200
=

3) Find the sum of the interior angies for the following shapes.

a) octagon

(5% 2) 5T
108

b E
) Béaﬁ

4) Determine if each quadrilateral must be a parallelogram. Justify vour answer.

a)
/ B el 3
fode it Brecet
i
i
 Weed &
/0

TN

|7

b)

e

biscod  Cach oibe L~

‘78 S-z‘-?‘y )

ydﬁ .

5) The following shapes are parallelograms. Solve for the missing variables.

b) 10a—6

2) U v
. Gy — 14 c ! (2b+41)'1l1
3X+\ \(—9 f (7b — 59)" |
T 8a -+ 33 w
B 3y + 7 H
o 2btYi +7b~57 (50
Cyl =3y F7
Iy M3y ey Swt7 = ;ﬁ’x-'* v U L4 =0
¥ 3 ~Sx=-7g Uo7y
[y=7/ 1222 ) (k=227
o~ =%art?3
~ % g v
s 3¢

g (45



Name: ’\P&/ 4/13/2018 Geometry — Quiz 23

1) Find the fenfths and stopes of the diagonals to determine whether a parallelogram with the given
vertices 1s a rectangle, rhombus, or square. Give ALL names that apply.

ils. recs
E("'z,—‘q'); F{O,—IJ’G(—g,l))H(‘—S,_Z) 149 ‘1’”1/ ﬁec_hdﬁ/{} j?ébh"}"z;i

EG | Slope of EG | FH | Stope of FH s
—_ ) i
° [ , —i J <,
- —'; --—~'"2 + N ¥ 2‘ —_— T (::-.
( ) (:‘ f) ___", * -5 - 5™
V26
8
2) Use the figure on the right to determine whether each conclusion is valid. If not, c
tell what additional information is needed to make it valid. A
a) Given: AC and BD bisect each other. AB = BC. Conclusion: ABCD is a square.
N .
mvalid | peed  ACgp
7
b) Given: AB = B( = (D = DA and AC = BD Conclusion: ABCD is a square.
La (/‘o'/,
3) VWXY is a rhombus. Find each measure: gm - 12

XY= 36 1, | _
b) mAYVW:-{ - bmt2 =Y, 1y
) MLVYX = gt ™7 3¢ 2o =L i o
d) meXVZ =g3 5 o s y ‘ [
. 2
> R
S 2= 90, 75
a4 =ﬁ9

4) Give ALL the possible names of the following quadrilaterals that you KNOW the follow shapes are.

- N =SS

a) m| b} ¢)
m
i 7R Hao rarm i et
;/t"C‘{‘&mﬁ le . e tangle V., 5
#hom ba s '

S«t[‘/ C ¥V



